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LS — 10 210+10 3E0X10 20+01 10HY  B5 34 215 4:0025+11 5 B5 b1=PAZD"=NTS
LS - 12 215410 400+10 244101 12H7T a0 4z 270 4:0025+135 T 1411 =B 3
LS — 14 240415 A0+15 2e+01 14H7T Qo 47 5 5rBOE5w G0 al 16%13xE% 355
LS — 16 270+15 S00+15 324015 16HT 100 52 5 580255150 a0 2166w 4
LS — 18 305+15 E80+15 36015 18HT 110 B0 ITh 5E025 w200 100 2016w Ew 4
LS — 20 S0+ 20 EO0+ 20 A0+015 2O0HY 115 BE 375 §E0ES w2k 0 100 PE1EwE=
LS — 22 330+ 20 E40+ 20 444072 2EHT 120 BS5 330 F:a0a0ywpe 0 105 PEEETWERE
LS — 25 350+ 20 TOo+20 S04+0%2 2EHT 125 7O 395 F:a030w 500 110 AW EIEEWE
LS — 30 430+ 25 gE0+ 25 GO0 2 30HT 122 &89 ] 10180390+ 355 130 34w PR T
LS — 35 S00+ 25 1000+ 25 TOX02 35HT 175 100 575 1080905 35,5 140 34w PR T
LS — 40 570+ 30 1140430 a0+025 40HF 190 114 EBES 108090 455 150 MESxPAZD"=NT16
LS — 45 B30+ 30 1260+ 30 g0+ 0,25 45HT 200 125  T00 12:B095w A5 5 160 MES=PAZD"=NT16
LS — 50 B0+ 40 1340+£40  100£025 SOHY 210 135 740 121805555 ] 170 MI0xPAZD"=NT1E
LS — 60 Ta40+ 40 14604+40 1204025 BOHT 230 150 770 1528095 g5 0 185 MA0=PAZD"=NT16
LS — T0 Q00+50 1800450 135+03 TOHT 250 185  9Z0 1518035+ 76,0 200 MA0xPAZO"NT16E
LS — 80 1000+60 200060 155+03 gOHT 280 130 1100 24804935 350 220 ME 0 PAZO"NT16

LS — 100 1300+60  2400£60 17505  100HT 310 215 1350 25991080 240 MSOwPAZI"xNT1E



